Mole Conversmn and Stoichiometry WS

(periodic table)
molar mass (g) =1 mol = 6.022 x 10® atoms

The only way to go from one  substance to another
is through the mole ratio of the balanced chemical equation.

You must show all unit cancellation in order to get credit.

No work shown means no credit is given.

Write the units in the conversion.

Label everything including the answer. Give the answer using the proper # of sig, figs.

Part A:
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3. Copper (II) nitrate reacts with potassium sulfate What are the products? '
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~ 5. If2 moles of potassium sulfate react, how many moles of each of the other substances react or
are produced? 3
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3. If29.6 gof potassium sulfate react, how many moles of each of the other substances react or are

produced?
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Part C:

1. 4.86x 10" atoms of Cu to gofCuv'VW‘é
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3. If29.6gof potavs‘s?um sulfate react, how many g of each of the other substances react or are U3 ‘2? %)
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